@ SUf{-’OS{ _“/\m{‘ ,G\:?#_ w e _,
(/94 ot Q’UMQa c’w(l 'Tler CIRY M\qn,
By Cavihls tha Thew exish Xy €06

will  Ixlzp and lyl=%
C[&ifmf /Xy J; f% .

—_——

NowL(’. That
(x"= X" B () (%)= 1021

—
be casl (-

(s odeliun
Thes, 1 2Ixyl<ps.

P

Let H=4x0 omd K=dy7, Tha [Hl=p
omd \Kl=5, S HOKEH and TOK <K
\aj Lo\@mm);/_. Neswm lne|  divides {-‘M
ekl diviie 4, S g p e pames and PET
we know That [HAK(=L, Thes KA =547,
Now 5vppose Thak (x\d)k:i _%(

Some B>\, Tlow xkﬂk:i S



S:
\/\!‘Uﬂ_ -€ L’/'VV\(}‘ a, oA P'rlf\’\'ffx’ "

e T | |
S e e molbele

o\ Pa Woma ez P4 Thowr
F

i [ -
(i) X — = -
Z5 1%])&’3‘,%}
3'-2
zz___:"q W ) SN -
_,_,--1J - s L Z-S /<?.,7
2 =K =5
592 6="1




